

BHARAT HEAVY ELECTRICALS LIMITED RAMACHANDRAPURAM, HYDERABAD-32 FACTORY CIVIL & PROJECTS DEPARTMENT

SCHEDULE- A

Tender Notice No:

HY/FCD/OT-08/2021-22 Dt: 11.08.2021

PRICE BID

Name of work: Civil works for Clean room.

s.	No	Description	Qty Unit		Rate in Rs	Amount (Rs)
		Part-A: Floor levelling and Border				
1		Dismantling reinforced cement concrete / plain cement concrete and disposing of debris upto to a lead of 2 KM including loading, unloading and spreading as directed by Engineer-in-charge etc., complete. All as directed by Engineer-in-charge.	62.40	Cu.M	1054.10	65,775.84
2		Fabrication of structural steel work including all materials going into the process of fabrication and forming an integral part of steel work together with all shop and site rivets and electrodes for site welding as necessary and all site connections comprising sag rods, floor beams, girders, bracings, trusses and frame work for fixed false ceiling and for movable false ceiling, purlins with channel / angles, MS flat supports including all connections as per detailed drawings connected steel works etc., cleats, gusset plates, all bolts, nuts, washers, base plates, anchor bolts as per detailed drawings, cutting, welding and painting 2 coats of red-oxide primer before erection etc., complete. The rate shall include painting 2 coat of Red-oxide as per IS specifications and all charges for handling, leading and loading at the fabrication yard. The raw structural steel sections, electrodes, gasses only will be issued by BHEL on FREE of cost at their stores	ing into the process of fabrication and forming an integral part steel work together with all shop and site rivets and electrodes site welding as necessary and all site connections comprising in rods, floor beams, girders, bracings, trusses and frame work fixed false ceiling and for movable false ceiling, purlins with similar and formoved for samples, MS flat supports including all connections as per sailed drawings connected steel works etc., cleats, gusset plates, bolts, nuts, washers, base plates, anchor bolts as per detailed wings, cutting, welding and painting 2 coats of red-oxide primer one erection etc., complete. The rate shall include painting 2 to of Red-oxide as per IS specifications and all charges for adding, leading and loading at the fabrication yard. The raw suctural steel sections, electrodes, gasses only will be issued by		61,784.80	
3		Erection of Steel work out lined in item No.6 above including the charges for handling, leading and stacking at site at approved locations prior to erection including all site rivetting, bolting, jointing and site welding where ever required.	6.80	MT 3894.00		26,479.20
4		Applying one or more coats of synthetic enamal paint of given shade to old steel work including scraping old surfaces ,cost of all labour ,tools and other incidentals etc complete.(Only synthetic enamal paint will be supplied by BHEL)	6.80	МТ	696.00	4,732.80
5		Providing and laying in position specified grade, of Reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - all work above floor level up to floor V level with 1:1½:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate of 20 mm nominal size). Only cement will be issued by BHEL on free of cost at their store.	62.40	cu.m	3139.00	1,95,873.60
6		Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete by cold twisted bars (BHEL will issue Tor Steel at their stores on free of cost).	3.80	M.T	7,369.00	28,002.20
7		Grouting with cement mortar 1:1 including cost of all materials, labour, curing, for all leads and lifts etc.; complete. For pockets .Only cement will be issued by BHEL on free of cost at their store.	5.00	Cu.M	829.00	4,145.00
					Total part A	₹ 3,86,793.44
1		Part-B: Clamping Bar Dismantling reinforced cement concrete / plain cement concrete				
		and disposing of debris upto to a lead of 2 KM including loading, unloading and spreading as directed by Engineer-in-charge etc., complete. All as directed by Engineer-in-charge.	33.08	Cu.M	1054.10	34,864.36
2		Earth work in excavation in all soils by mechanical means (Hydraulic Excavators) / manual means in foundations trenches or drains (not exceeding 1.5m in width or 10 Sq.m on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50M. All as directed by Engineer-incharge.	or ng ng 77.18 Cu.M 130.80 ed		10,094.49	

s.	No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
3		Conveyance of excavated spoil up to a lead of 2 Kms, including loading , unloading and spreading etc. complete as directed by Engineer- in- charge.			93.94	7,249.82
4		Earth work in excavation by mechanical means (Hydraulic Excavators) / manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 Sq.M on plan) including disposal of excavated earth, lead upto 50 m and lift upto 1.5 m, disposing earth to be leveled and neatly dressed for Hard Rock (Blasting prohibited). All as directed by Engineer-in-charge.		3,782.35		
5		Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering including consolidation by vibrations for all works up to plinth level with 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate of 20 mm nominal size). **	11.03	Cu.M	2,438.00	26,878.95
6		Providing and laying in position specified grade, of Reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - all work up to plinth level with 1:1%:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate of 20 mm nominal size). Only cement will be issued by BHEL on free of cost at their store.	87.23	87.23 cu.m 2497.2		2,17,822.63
7		Reinforcement for R.C.C. work including straightening , cutting, bending, placing in position and binding all complete by cold twisted bars (BHEL will issue Tor Steel at their stores on free of cost).	4.36	М.Т	7,369.00	32,138.05
8		Centering and shuttering including strutting, propping etc.; and removal of form for walls(any thickness) including attached pillasters, buttresses, plinth and string courses etc.,.	201.60	Sq.M	285.15	57,486.24
-					Total part B	₹ 3,90,316.89
1		Part-C: Machine foundation Dismantling reinforced cement concrete / plain cement concrete and disposing of debris upto to a lead of 2 KM including loading, unloading and spreading as directed by Engineer-in-charge etc., complete. All as directed by Engineer-in-charge.		Cu.M	1054.10	19,922.49
2		Earth work in excavation in all soils by mechanical means (Hydraulic Excavators) / manual means in foundations trenches or drains (not exceeding 1.5m in width or 10 Sq.m on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50M. All as directed by Engineer-incharge.	50.40	Cu.M	130.80	6,592.32
3		Conveyance of excavated spoil up to a lead of 2 Kms, including loading , unloading and spreading etc. complete as directed by Engineer- in- charge.	50.40	Cu.M	93.94	4,734.58
4		Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering including consolidation by vibrations for all works up to plinth level with 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate of 20 mm nominal size). **	6.30	6.30 Cu.M		15,359.40
5		Providing and laying in position specified grade, of Reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - all work up to plinth level with 1:1%:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate of 20 mm nominal size). Only cement will be issued by BHEL on free of cost at their store.	70.00	cu.m	2497.25	1,74,807.50
6		Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete by cold twisted bars (BHEL will issue Tor Steel at their stores on free of cost).	5.60 M.T		7,369.00	41,266.40
7		Centering and shuttering including strutting, propping etc.; and removal of form for walls(any thickness) including attached pillasters, buttresses, plinth and string courses etc.,.			4,339.40	
8		Supply and fixing in position 60 mm thick / 30 mm thick in two layers thermocoal including cost of materials, labour etc., complete.	83.16	Sq.M	380.95	31,679.80
					Total Part C	₹ 2,98,701.89

S. I	No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
1		Part-D: Semi Gantry Crane Dismantling reinforced cement concrete / plain cement concrete and disposing of debris upto to a lead of 2 KM including loading, unloading and spreading as directed by Engineer-in-charge etc., complete. All as directed by Engineer-in-charge.	7.20	Cu.M	1054.10	7,589.52
2		Earth work in excavation in all soils by mechanical means (Hydraulic Excavators) / manual means in foundations trenches or drains (not exceeding 1.5m in width or 10 Sq.m on plan) including dressing of sides and ramming of bottoms, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50M. All as directed by Engineer-incharge.	24.00	24.00 Cu.M 130.80		3,139.20
3		Conveyance of excavated spoil up to a lead of 2 Kms, including loading , unloading and spreading etc. complete as directed by Engineer- in- charge.	24.00	Cu.M	93.94	2,254.56
4		Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering including consolidation by vibrations for all works up to plinth level with 1:4:8 (1 cement : 4 coarse sand : 8 graded stone aggregate of 20 mm nominal size). **	2.88 Cu.M 2,438.00		2,438.00	7,021.44
5		Providing and laying in position specified grade, of Reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - all work up to plinth level with 1:1%:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate of 20 mm nominal size). Only cement will be issued by BHEL on free of cost at their store.	24.00 cu.m		2497.25	59,934.00
6		Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete by cold twisted bars (BHEL will issue Tor Steel at their stores on free of cost).	2.00 M.T 7,369.00		14,738.00	
7		Fixing CR80 rails for various gauges at height of 5 to 6 m including fixing side guide angle etc., complete with necessary clamps required for fixing rails in position and alignment, leveling as per B.I.S 7215-1974. Including cost of clamps, bolts & nuts etc., (Only rail clamps, welding electrodes, M.S rails, M.S. Angles, Strl. steel shall be issued free of cost at BHEL stores)	4.20	м.т	12,980.00	54,516.00
8		Fabrication of structural steel work including all materials going into the process of fabrication and forming an integral part of steel work together with all shop and site rivets and electrodes for site welding as necessary and all site connections comprising sag rods, floor beams, girders, bracings, trusses and frame work for fixed false ceiling and for movable false ceiling, purlins with channel / angles, MS flat supports including all connections as per detailed drawings connected steel works etc., cleats, gusset plates, all bolts, nuts, washers, base plates, anchor bolts as per detailed drawings, cutting, welding and painting 2 coats of red-oxide primer before erection etc., complete. The rate shall include painting 2 coat of Red-oxide as per IS specifications and all charges for handling, leading and loading at the fabrication yard. The raw structural steel sections, electrodes, gasses only will be issued by BHEL on FREE of cost at their stores	19.64	мт	9086.00	1,78,449.04
9		Erection of Steel work out lined in item No.6 above including the charges for handling, leading and stacking at site at approved locations prior to erection including all site rivetting, bolting, jointing and site welding where ever required.	19.64 N		3894.00	76,478.16
10		Applying one or more coats of synthetic enamal paint of given shade to old steel work including scraping old surfaces ,cost of all labour ,tools and other incidentals etc complete.(Only synthetic enamal paint will be supplied by BHEL)	19.64	МТ	696.00	13,669.44
11		For the 4 nos of semi gantry columns. Drilling of 18mm Dia holes upto 150 mm to 160mm deep holes.cleaning the holes fixing of Hilti HIT-V M 16X200 mm Anchors 5.8 Grade with Hilti Hit-RE500V3 Chemical grouting work.(Including Hilti Material &Drilling Machines, Bits, Labors Etc)	48.00	nos	950.00	45,600.00

s.	No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
12		Providing and fixing expansion hold fasteners on C.C. /R.C.C./Brick masonry surface backing including drilling necessary holes and the cost of bolt etc complete. Fastener with threaded dia 12 mm		nos	38.95	15,268.40
13		Dismantling of existing pipe and Supplying and fixing plain PVC pipe of 160 mm dia with 6Kg/Sqcm. of approved quality (make Sudhakar/Nandi) with specials, accessories like fixing clamps and approved sealing /jointing compound on the exterior of the inserted portion of the fitting and fixing in position and joing to MS gutters, including cost of all materials, sealing compound, labour etc., for all heights etc. complete all as directed by Engineer in-charge.	40.00	RM	658.08	26,323.20
					Total Part D	₹ 5,04,980.96
-		Part-E: Cable trench (1.0 x 1.0)m				
1		Dismantling reinforced cement concrete / plain cement concrete and disposing of debris upto to a lead of 2 KM including loading, unloading and spreading as directed by Engineer-in-charge etc., complete.	20.00	Cu.m	1054.10	21,082.00
2		Earth work in excavation by mechanical means (Hydraulic Excavators) / manual means in foundations trenches or drains (not exceeding 1.5m in width or 10 Sq.m on plan) including dressing of sides and ramming of bottams, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m.	20.00	00 Cu.m 130.80		2,616.00
3		Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering including consolidation by vibrations for all works up to plinth level with 1:4:8 (1 cement : 4 coarse sand :84 graded stone aggregate of 20 mm nominal size). **	1.50	Cu.M	2438.00	3,657.00
4		Providing and laying in position specified grade, of Reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - all work up to plinth level with 1:1%:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate of 20 mm nominal size). Only cement will be issued by BHEL on free of cost at their store.	5.00	Cu.M	2497.25	12,486.25
5		Centering and shuttering including strutting, propping etc.; and removal of form for walls(any thickness) including attached pillasters, buttresses, plinth and string courses etc.,.	40.00	Sq.M	166.90	6,676.00
6		Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete by cold twisted bars (BHEL will issue Tor Steel at their stores on free of cost).	0.16	М.Т	7369.00	1,175.45
7		Filling with available excavated earth (excluding rock) in trenches , plinth , sides of foundations etc. in layers not exceeding 20 cm in depth , consolidation each deposited layer by ramming and watering , lead upto 50.00 m and lift upto 1.50 m.	5.00	Cu.M	83.80	419.00
8		Conveyance of excavated spoil up to a lead of 2 Kms, including loading , unloading and spreading etc. complete as directed by Engineer- in- charge.	17.00 Cu.M 93.94		1,596.98	
9		Fabrication of structural steel work including all materials going into the process of fabrication and forming an integral part of steel work together with all shop and site rivets and electrodes for site welding as necessary and all site connections comprising sag rods, floor beams, girders, bracings, trusses and frame work for fixed false ceiling and for movable false ceiling, purlins with channel / angles, MS flat supports including all connections as per detailed drawings connected steel works etc., cleats, gusset plates, all bolts, nuts, washers, base plates, anchor bolts as per detailed drawings, cutting, welding and painting 2 coats of red-oxide primer before erection etc., complete. The rate shall include painting 2 coat of Red-oxide primer as per IS specifications and all charges for handling, leading and loading at the fabrication yard. (The raw structural steel sections, electrodes, gasses only will be issued by BHEL on FREE of cost at their stores).	0.50	МТ	9086.00	4,543.00

S. No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
10	Erection of Steel work out lined in item No.1 above including the charges for handling, leading and stacking at site at approved locations prior to erection including all site rivetting, bolting, jointing and site welding where ever required. (upto 15.00m)	0.50	0.50 MT 3894.00		1,947.00
11	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade:Two or more coats on new work.(Only synthetic enamal paint will be supplied by BHEL)		МТ	696.00	348.00
12	Casting and placing in position of R.C.C cable trench covers of 75 mm thick in mix of 1:1.5:3 using 20 mm down graded metal including cutting, welding of Angle iron frame, cost of MS reinforcement as specified including cutting bending, binding wire, spreading of Ironite powder at 2 Kg / Sq.m, neat finishing, cost of labour, etc complete as directed. (MS angles, electrodes only will be issued on free of cost by BHEL at their stores).(Cement only will be issued on free of cost by BHEL)	5.00	Sq.m	241.00	1,205.00
				Total Part E	₹ 57,751.68
-	Part-F: Rail for Tig Welding Machine				
1	Dismantling reinforced cement concrete / plain cement concrete and disposing of debris upto to a lead of 2 KM including loading, unloading and spreading as directed by Engineer-in-charge etc., complete. All as directed by Engineer-in-charge.	3.30	Cu.M	1054.10	3,478.53
2	Earth work in excavation by mechanical means (Hydraulic Excavators) / manual means in foundations trenches or drains (not exceeding 1.5m in width or 10 Sq.m on plan) including dressing of sides and ramming of bottams, lift upto 1.5m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50m.	2.75	Cu.m	130.80	359.70
3	Conveyance of excavated spoil up to a lead of 2 Kms, including loading , unloading and spreading etc. complete as directed by Engineer- in- charge.			93.94	258.34
4	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering ,including consolidation by vibrations for all works up to plinth level with 1:4:8 (1 cement : 4 coarse sand :84 graded stone aggregate of 20 mm nominal size). **	1.10	Cu.M	2438.00	2,681.80
5	Providing and laying in position specified grade, of Reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - all work above floor level up to floor V level with 1:1%:3 (1 cement : 1½ coarse sand : 3 graded stone aggregate of 20 mm nominal size). Only cement will be issued by BHEL on free of cost at their store.	4.52	cu.m	3139.00	14,191.42
6	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete by cold twisted bars (BHEL will issue Tor Steel at their stores on free of cost).	0.23	0.23 M.T 7,369.00		1,665.76
7	Fabrication of structural steel work including all materials going into the process of fabrication and forming an integral part of steel work together with all shop and site rivets and electrodes for site welding as necessary and all site connections comprising sag rods, floor beams, girders, bracings, trusses and frame work for fixed false ceiling and for movable false ceiling, purlins with channel / angles, MS flat supports including all connections as per detailed drawings connected steel works etc., cleats, gusset plates, all bolts, nuts, washers, base plates, anchor bolts as per detailed drawings, cutting, welding and painting 2 coats of red-oxide primer before erection etc., complete. The rate shall include painting 2 coat of Red-oxide as per IS specifications and all charges for handling, leading and loading at the fabrication yard. The raw structural steel sections, electrodes, gasses only will be issued by BHEL on FREE of cost at their stores	0.47	МТ	9086.00	4,264.82
8	Erection of Steel work out lined in item No.6 above including the charges for handling, leading and stacking at site at approved locations prior to erection including all site rivetting, bolting, jointing and site welding where ever required. MT 3894.00		1,827.78		

Description	Qty	Unit	Rate in Rs	Amount (Rs)		
Fixing CR80 rails for various gauges at including fixing side guide angle etc., complete with necessary clamps required for fixing rails in position and alignment, leveling as per B.I.S 7215-1974. Including cost of clamps, bolts & nuts etc., (Only rail clamps, welding electrodes, M.S rails, M.S. Angles, Strl. steel shall be issued free of cost at BHEL stores)	1.28	М.Т	12,980.00	16,666.32		
			Total part F	₹ 45,394.47		
` '				₹ 16,83,939.32		
the right to get the same completed through some other party at the due to the same shall be charged to the contractor.			•			
I.R clearance and payment of final bill.	e released an	ter satisfactory	completion of the w	ork and after getting		
a) In the event of delay in supply of goods and or services beyond shall be levied on the gross value of work done subject to a maxin amount so determined along with GST if applicable thereon shall be	mum of 10% recovered.	of the gross va	alue of the total wor	rk executed. Penalty		
will be forfeited.				,		
c) If the agency fails to commence the work as requested by the department penalty of 0.5% on the gross value of work for weeks delay will be applicable. Penalty amount so determined along with GST if applicable thereon shall be recovered.						
Taxes: Bidders shall quote their Basic price exclusive of taxes. The applicable taxes on supply of material or services, as the case may be viz.GST shall be quoted separately, clearly showing the Service Code/Tariff Head, Rate of Tax and Amount of Tax in the Bid. The reimbursement of taxes to the contractor is contingent upon fulfilment by the contractor of all statutory provisions as stipulated in the relevant taxation statue enabling BHEL to avail the eligible input tax credits. TDS at the rates prescribed under Income Tax Act shall be deducted from the payments due to Contractor and BHEL shall issue the prescribed under Income Tax BHEL shall issue the						
The tender % age quoted by the contractor shall be inclusive of all taxes and duties other than GST as applicable from time to time.						
All the bills of the contractors will be cleared subject to the production of clearance certificate by the contractors in respect of compliance of all statutory requirement, issued by IR section of HR department BHEL.						
The agency shall submit the I.R. clearance certificate for the above work and arrange to get the final bill sent to Finance within one month from the actual date of completion of work.						
The agency has to pay the minimum wages to workers with statutory payments like ESI, PF etc., is as per BHEL notification and as per NIT. For USW= ₹ 550.38, SSW= ₹ 587.73, SW = ₹ 623.54 + ESI + PF + PPE's and other statutory if any increase in future DA is to be home by the agency.						
The agency has to bring police clearance certificate for the work force	e.					
				roduced from time to		
	rge					
Vendor shall raise GST invoice on BHEL Hyd GSTIN.						
· · · · · · · · · · · · · · · · · · ·	ll be recovere	d from the vend	lor bills.			
Use of stone dust is not permitted in any civil works.						
GST CLAUSES						
Following points to be complied with :						
In case GST credit is delayed/denied to BHEL due to non/delayed receipt of goods and/or tax invoice or expiry of timeline prescribed in GST law for availing such ITC, or any other reasons not attributable to BHEL, GST amount shall be recoverable from vendor along with interest levied/leviable on BHEL.						
In case vendor delays declaring such invoice in his return and GST credit availed by BHEL is denied or reversed subsequently as per GST law, GST amount paid by BHEL towards such ITC reversal as per GST law shall be recoverable from vendor/contractor along with interest levied / leviable on BHEL.						
The bidder shall arrange to send to BHEL, Hyderabad along with al for Recipient) along with his bills.	I the required	d documents as	in Purchase Order,	Tax Invoice (Original		
Vendor to ensure correct applicability of IGST/CGST/SGST/UTGST based on the Inter /Intra state movement Supply of goods and services or both.						
	ixing CR80 rails for various gauges at including fixing side guide angle etc., complete with necessary clamps required for fixing rails in position and alignment, leveling as per B.I.S 7215-1974. Including cost of clamps, bolts & nuts etc., (Only rail clamps, welding electrodes, M.S rails, M.S. Angles, Strl. steel shall be issued free of cost at BHEL stores) Total of Part (A+B+C+D+E+F) Risk Purchase: In case the contractor fails to execute the work we the right to get the same completed through some other party at the due to the same shall be charged to the contractor. The rates are excluding GST. The maintenance period is 12 months. The security deposit will be I.R. clearance and payment of final bill. Penalty terms: a) In the event of delay in supply of goods and or services beyond shall be levied on the gross value of work done subject to a maxin amount so determined along with GST if applicable thereon shall be b) If the contractor fails to deposit the required security deposit or will be forfeited. c) If the agency fails to commence the work as requested by the de will be applicable. Penalty amount so determined along with GST if a Taxes: Bidders shall quote their Basic price exclusive of taxes. The viz.GST shall be quoted separately, clearly showing the Service reimbursement of taxes to the contractor is contingent upon fulfilin relevant taxation statue enabling BHEL to avail the eligible input tax TDS at the rates prescribed under Income Tax Act shall be deducencessary TDS Certificates for such deductions made. The tender % age quoted by the contractor shall be inclusive of all to the production of the contractor shall be inclusive of all to the production of the contractor shall be inclusive of all to the production of the contractor of the production of the department. The agency has to pay the minimum wages to workers with statut NIT. For USW= ₹ 550.38, SSW= ₹ 587.73, SW = ₹ 623.54 + ESI + borne by the agency. The agency has to pay the minimum wages to workers with statut NIT. For USW= ₹ 550.	Fixing CR80 rails for various gauges at including fixing side guide angle etc., complete with necessary clamps required for fixing rails in position and alignment, leveling as per B.I.S 7215-1974. Including cost of clamps, bolts & nuts etc., (Only rail clamps, welding electrodes, M.S rails, M.S. Angles, Strl. steel shall be issued free of cost at BHEL stores) Total of Part (A+B+C+D+E+F) Risk Purchase: In case the contractor fails to execute the work within the sch the right to get the same completed through some other party at the risk & cost. due to the same shall be charged to the contractor. The rates are excluding GST. The maintenance period is 12 months. The security deposit will be released af I.R. clearance and payment of final bill. Penalty terms: a) In the event of delay in supply of goods and or services beyond contractual shall be levied on the gross value of work done subject to a maximum of 10% amount so determined along with GST if applicable thereon shall be recovered. b) If the contractor fails to deposit the required security deposit or commence to will be forfeited. c) If the agency fails to commence the work as requested by the department per will be applicable. Penalty amount so determined along with GST if applicable the Taxes; Bidders shall quote their Basic price exclusive of taxes. The applicable the Taxes; Bidders shall be quoted separately, clearly showing the Service Code/Tariff reimbursement of taxes to the contractor is contingent upon fulfilment by the crelevant taxation statue enabling BHEL to avail the eligible input tax credits. TDS at the rates prescribed under Income Tax Act shall be deducted from the necessary TDS Certificates for such deductions made. The tender % age quoted by the contractor shall be inclusive of all taxes and duti. All the bills of the contractors will be cleared subject to the production of clearan of all statutory requirement, issued by IR section of HR department BHEL. The agency has to bring police clearance certificate for the work force. A	Fixing CR80 rails for various gauges at including fixing side guide angle etc., complete with necessary clamps required for fixing rails in position and alignment, leveling as per B.LS 7215-1974. Including cost of clamps, bolts & nuts etc., (Only rail clamps, welding electrodes, M.S rails, M.S. Angles, Strl. steel shall be issued free of cost at BHEL stores) Total of Part (A+B+C+D+E+F) Risk Purchase: In case the contractor fails to execute the work within the scheduled time or the right to get the same completed through some other party at the risk & cost of the contractor the right to get the same completed through some other party at the risk & cost of the contractor. The rates are excluding GST. The maintenance period is 12 months. The security deposit will be released after satisfactory. LR clearance and payment of final bill. Penalty terms: a) In the event of delay in supply of goods and or services beyond contractual delivery date, probable between the one of the contractor final bill. Penalty terms: a) In the event of delay in supply of goods and or services beyond contractual delivery date, probable between or delay in supply of goods and or services beyond contractual delivery date, probable between or delay in supply of goods and or services beyond contractual delivery date, probable between the contractor fails to deposit the required security deposit or commence the work within in will be forfeited. c) If the agency fails to commence the work as requested by the department penalty of 0.5% or will be applicable. Penalty amount so determined along with GST if applicable thereon shall be real to applicable. Penalty amounts of determined along with GST if applicable thereon shall be real to applicable. Penalty amounts of determined along with GST if applicable thereon shall be real to applicable. Penalty amounts of determined along with GST if applicable thereon shall be released states to the contractor in the probable probable probable. Penalty amounts of determined along with GST if applicable	Fixing CR80 rails for various gauges at including fixing side guide angle etc., complete with necessary clamps required for fixing rails in position and alignment, leveling as per B.1.5 7215-1974. Including cost of clamps, bolts & nuts etc., (Only rail clamps, welding electrodes, M.S. rails, M.S. Angles, Strl. steel shall be issued free of cost at BHEL stores) Total of Part (A+B+C+D+E+F) Risk Purchase : In case the contractor fails to execute the work within the scheduled time or due to any other ret the right to get the same completed through some other party at the risk & cost of the contractor and any additional due to the same shall be charged to the contractor. The rates are excluding GST. The maintenance period is 12 months. The security deposit will be released after satisfactory completion of the w. I.R. clearance and payment of final bill. I.R. clearance and payment of final bill. Penalty terms: a) In the event of delay in supply of goods and or services beyond contractual delivery date, penalty of 0.5% per shall be levided on the gross value of work done subject to a maximum of 10% of the gross value of the total wo amount so determined along with GST if applicable thereon shall be recovered. b) If the contractor fails to deposit the required security deposit or commence the work within the period as per LC will be applicable. Penalty amount so determined along with GST if applicable thereon shall be recovered. c) If the agency fails to commence the work as requested by the department penalty of 0.5% on the gross value of will be applicable. Penalty amount so determined along with GST if applicable thereon shall be recovered on the payment shall be recovered. c) If the agency fails to commence the work as requested by the department penalty of 0.5% on the gross value of will be applicable. Penalty amount so determined along with GST if applicable thereon shall be recovered on the payments due to Contractor shall prove their Basic price exclusive of taxes. The applicable taxes on supply of mat		

s.	No	Description	Qty	Unit	Rate in Rs	Amount (Rs)
2	0	Taxes and duties prevalent on the contractual delivery date or the actual delivery date (in case of delay) whichever is lower shall be applicable paid. Composition Scheme to be addressed.				
2	1 1	Vendor shall note that the Invoice has to be raised quoting HSN applicable.	N Code of Go	oods or Accoun	ting Code of Servic	es or both wherever
2	2	Invoice should mention BHEL-HPEP-HYDERABAD GSTIN: 36AAACB4	Invoice should mention BHEL-HPEP-HYDERABAD GSTIN: 36AAACB4146P1ZG or GSTIN of BHEL Nodal Agency as mentioned in PO.			
2	3	In case of any short supply of goods or service Vendor has to raise a credit note for short supplied quantity as per GST provisions.				
2	,	Any GST liability arising on BHEL under reverse charge before actual receipt of goods and or services and/or invoice thereof would be subject to recovery of interest leviable for the period between the date of such liability and actual date of eligibility of ITC based on receipt of goods, receipt of invoices and other conditions specified in GST law, as applicable.				
2	5	Supplier shall mention their GST registration number in all their invoices and invoices shall be in the format as specified/prescribed under GST laws. Invoices shall necessarily contain Invoice number (in case of multiple numbering system is being followed for billing like SAP invoice no, commercial invoice no etc., then the Invoice No which is linked/uploaded in GSTN network shall be clearly indicated), item description as per PO, Quantity, Rate, Value, applicable taxes with nomenclature (like IGST, SGST, CGST & UTGST) separately, HSN/ SAC Code, etc.				
2	6	A declaration to the effect that all tax liability as per GST rules and regulations shall be discharged.				

Tender %	In figure	In words
Excess		
Less		
At par with Estimated value		

Note: The bidders are required to quote the tender value on percentage (%) basis at excess or less or on par with estimated value in figures and words.Bidders are requested to fill only one row.